101. =2 % wadam ® guR *W@Wﬂ 101. Anti-aliasing is important to Improve

wpeai &) Tw fEaa dara ¥ readability of text. It deals with the :

1) "' = emn (1) elimination of “jaggies”.

@ 2 FEm-sEm A s #ra &g ) @2 spacing between two indivis
characters.

(3) Wl W TR F) (3) underlining of letters.

@) =¥ uw T AfE (4) spacing of a group of character:

102. ‘v ST ¥ us 3z v faan ¥ifew faw® 7@ | 102 Consider a set of n tasks with kn

e =@ () 1, 2 .. m, # e runtimes r1, 2 .... rn, to be run
g avie w freafza fem < (4 uniprocessor machine. Which ol
frefafes 3 3 fem grme forzgfem senie &:Ilow'mgprocemorschedulingalgoﬁ
| sfeman drge Frem 2 will result in the maximum throughp
(1) wEfE faggfem () Priority scheduli

@ T (2) Round - robin

@) WEHWEWE (3) FCFS

(4 W _ = \_4) Shortest job first

103. 5= 5 @ f5efl 22032 wmae F Wi TU9H | 103. Which of the following is the

aﬁm%ﬁqmmmwﬂz appropriate format for graphics that
3 & 2 be embedded within an Internet docur
(1) HIML (1) HIML
(2 BMP (2) BMP
(3) TIFF (3) TIFF
(4 GIF _4) GIF
104 T TE W F faw = @i wRafEd F F O | 104 Which of the following is true to d
frAferfan 4 59 W EE 82 variable for ASP ?
(1) Var (1) Var
(2) Dim o4 D
@ S G 3
(4) Set (4) Set

O/Page 2 7% T4 % {10 g / SPACE FOR ROUGH WORK ——



105.

106.

107.

108.

fasjore afew & 92 & um gy
mﬁwm(aﬁ)ﬂ.mmﬂ

w21 8,
o wEA ¥ R T W g e

Famy

e (F3e) Tooft
wryfas Qoo
fedtas weoit

quites St

(1)
2
@)
4)

A TEY FaY R RS W fmw
Smtaﬂtsﬁzmtmaﬂi‘:zkﬂ

Sre (g ) | e R gey
HiFHan T9eN Fi T 791 B2 -

M 6
@ 2
@) 3
@ 5

TS TEiA § g8 990 | soeeis o gevi
=l 3afa s ¥ fou Fefafas 9 1 5=
‘T’ w1 ST TR s g 2

(1) TEAZG. (HITP)

2) WEAGL (FTP)

(3) WA (SMTP)

(4) TETATHH. (SNMP)

@mg,maﬁmﬁzm
%ﬁﬁﬁ,ﬁlm%:

(1) s feffe Toe TS
@) s feifdm Tus TAreT
@) @A affn TR

@) s felfim g TAT

105. In

106.

107.

the context of Visual Basic, multiple
meuafﬂ\esamrypem‘!m
into an array, in the same manner &1
is W as .
1) control array
e
) secondary array
(4) aninteger array

Consider two database relations R and '
having 3 tuples in R and 2 tuplesinS. Wha
is the maximum number of tupiles that coul
.ppm:hﬁ'nenaturalpinofRaulS?

o
2
G)
@

i W N &

Which of the following protocol 1s used &
transferring electronic mail messages fro
one machine to another ?

(1) HTTP

(3 rir

S3) SMTP

(4) SNMP

108. OLE, a Microsoft’'s component docums
technology, means :
(1) Overlay Linking and Exchange
(2 Online Linking and Embedding
(3) Open Learning Exchange
A4 Object Linking and Embedding

O/Page 3
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109, ‘wE wrafRt forgyfen sremREE' /| 109, The problem of indefinite blockage o
Yoy W' W sfifien s ) low-priority jobs in general priority

U R OEHNE W) weww scheduling algorithm can be solved
farm s wem ¥ using :
(1) W (1) swapping
@ wfw (2) dirty bit
SERGY ) aging
@) wREE (4) compaction
10, Frfefan o ) we &0 A w0 9foms A2 | 110, What result set is returned from the
wrer T ¥ ? following SQL query ?
Select customer_name, telephone Select customer_name, telephone
From customers From customers
Where city in (‘Jaipur’, ‘Delhi’, “Agra’); Where city in (‘Jaipur’, ‘Delhi’, ‘Agra’);
(1) Wi SRS F IgvirE AW S SR, (1) The customer_name of all customers
oot @ o o =€ wR ¥ who are not living in Jaipur, Delhi or
Agra.
(2 IuviEE A A ws Iusiemel ¥ (2) Thecustomer_name and telephone of
TS |

all customers.

@) SuvEE T R SR, faee § @ o \/(a) The customer_name and telephone of

H 1 A Wt susieR ¥ eftem ) all customers living in either Jaipur,
Delhi or Agra.
(4) SOV SR S, feeeh aik oy (4)  Thecustomer_name and telephone of
H A T W 30T F e |

all customers living in Jaipur, Delhi
and Agra.

111, IR ol & e & e frerfafes | 111 Which of the following data structures is

H |/ B A 2 g = o Sogea &2 most suitable for evaluating postfix

expressions ?

m 2 (1) Tree
2 w®® _A2) Stack
@) foime foe (@) Linked list
@4 = 4 Queue
O/ Page 4 T T % T T / SPACE FOR ROUGH WORK
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it
@
@)
@)

13 ee el g (quw d) W frefofen § 9
W fewhee fasfen w2

(1) s
@ Wwwad
@) wWRwww
@ o e ferw

nd. 8 fam/ fowgs a1@ 800 x 600 fowe &
wifE (smeneg) weR %W W 40 ¥H/
T W Waftn A ¥ ferg fare 0 A ?
(1) 1536 Mbps
@ 24 Mbps
3) 1536 Mbps
@ 153.6 Mbps

T W Coe i ¢ geme wehe : ufer
54

et o § @ wew €2

() ‘gz’ s o € AR CwdE S
Tt ¥

wore fwfem F e § e ()
wRi=g = gvim ¥

o W o’ ERAEE ¥ T
=t zwim ¥

T wE % v v A RS
mﬂtm:mmmm
% wn e’ F pfe e Y

@

&)

@)

LS

O/ Page 5

___——""L_—__"———-___
= wrd & fog e / SPACEFOR RouGH work

A

112 The major goal of object - oriented

pmgmmming is
(1) Top- down program development

() Speed

(3) User- interface

(4)

Reuse

| ™

113. Which of the following is the default

scripting language in Active Server Pages
(ASP) ? P

(1) JavaScript

(2) PHP

(3) HTML

(4)  VBScript

114. What is the bit rate for transmitting

uncompressed 800 x 600 pixel color frame
with 8 bits/ pixel at 40 frames/second ?
(1) 1536 Mbps

". ¢ %
(2) 24 Mbps i ..
(3) 1536 Mbps q¢€% 1(71
B 1536 Mbps ==
115. Assume the C++ definition : class circle :
public point
Which of the following is false ?
(1) “Point is the base class and ‘circle’ is
the derived class.
@ The colon (:) in the header of class
definition indicates inheritance.
3 The keyword “public’ indicates type
) o

Al the public and protected members
of class ‘circle” are inherited as public
and protected members, respectively.
into class “point’.

PK] 171/CS



mt avav] 1 l=new i
®)  mtamay By

b‘fﬂﬁthm;m
) wMND
2 asc
A ®EC
& SvD

M =T S res s
. - | ’I-. Ten signals, each reguirng 3000 Hz, ar
Ff Fﬁ“. FEmEmE T multipiexed onto 2 sigle channel s
;‘ﬁ: ﬁ;ﬁ: awﬁ* > FOM How much mimmmm h-au::
requrred for the multiplexed channe! 2

ST O W
. el g S Assuyme that the guard bands are 300 Hz
; ;“" vade
— - @ 3B
8 (2 @
o =am g, S
hiaf‘i—. = m“ithMinh
_ h‘ Sorpt will display a window having
with an OK and a CANCEL button &
aptons ?
A ()
@ alet()
3) contzm ()
@ veguest()
__-—-#-
mﬂl-ﬂ’




. mkmﬁth“N
(B
n
@
™
)

</ xml verston = 1.0°/>
<7 xml version = 1.0 />
< xml verston = 107 />
<2 xl verston = "1.07 />

1, Prefufes ¥ | #9 W w0E vErRo
MthMd““t,
@ M stk wre e

o fadivdl ) Qs (SR,

sraes, fehes, faenfy) |

foes o WY wE

(I

(m

m, () S
e (1) SR (D
e (1) SR ()
Fae (1) 3R ()

M
@
3
L)

12 T W

1 o

PIRLL SRR SE
) & R
(@) TR VRS

) we s ¥

23, s 9T 9 W veE wA ¥
m&m&&wiﬂﬁﬁﬂ
wa R \

() femizfEm
2 ITE=
3 YwEEE
(@) wafm

mdmamm#mm
mem:mxﬁh‘mm
W&MP
m To achieve
independence.
m To remove data anomalies (insertion,
wmm;
m‘l‘oaqumm&

121

physical data

@ (. () and ()
@ () and (W) only
® (0 and () only
@ (W and () only

122. A thread is also called :
1) ascheduler
@ avirtual process
() aheavyweight process

1233, Copying a process from memory to disk to
Mwho&mhnﬂ

@  deadlock
®  pagefauit

O/Page 7
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124. “llmnum”mmt“m”

H/q = da #)
(1) Wmm HEw

Z=Z+X;Y=Y~-1}

MAHAEX Y, MzpiE wmt dnxamy
svifem &\ 1 8 & 0 o8 %2 w5 w0
w1 WA A wrn §

(1)  Z, X*Y %1 5= ¥
(2)  Z, X+Y % 90Es vom
(3) Z, X% B am e
(4) Z Y® maem

126. i femm zinfoor o & wvam & & o
st =i 1 221w Aifea 73 v ovim
# ww WA A darwees wE gfren w

o WA R

() fewsram (Demultiplexer)
(2) TETET (Encoder)
@) fewrEr (Decoder)
(4) WA (Multiplexer)

124. When a subroutine is called, the ad¢
the instruction following the
instructions stored in/on the

Al program counter
(2) stack

(3) stack pointer
(4) accumulator

if (Y<0)
X& =X Y=~-Y]}
Z=0;
while (Y>0)
Z=Z+X;Y=Y~-1}

Assume that X, Y and Z are inte
variables, and that X and Y have b
initialized. Which of the following |
describes what this code segment does
(1) Sets Z to be the product X*Y
(2) SetsZtwbethesumX+Y

B3) Sets Z to be the absolute value of
(4) Sets Z to be the value of Y

126. A combmational logic circuit that is us
when it is desired to send data from two
more source through a single transmissi
h'km“__‘_____

(2) Encoder
(3) Decoder

%) Multiplexer

O/ Page B ""“‘h"/ﬁl’mmmw mﬂ-l/E



g, e W el T A gy

o 5 ST 2 o ) oy
ﬁmm:fnﬁnm'h
L ELRLAT

wrirfin faeen, fireen 1 immy g
wow e 9 s w5 & oty gy
b

faoltz # wh #

ot 9w Yot A b

SR 1w vt v, e
o (frwive e o ) By

(4

18, T XHTML wemirm wh ey w1 wiy
w01 g 1D W e w87

()
(2
()

Drescvirment i | refinsition
(R lmw
Dicuttwrd Tovem s Definition

M) Decurment Teot Defimition
129, wegivives i g owerr A ) dwnfeA
0 s gy ;g g s 0 9
L R T—— L L
(1) e
(2) m ey
(%) vy wrgrrr
@) srprw ongrr

" W.mamwt-mg
. s

) The Java Virtual Machine (JVM)
checks the output of any Jaya
progrem and deletes anything that
does not make sense at all.
The Operating System periodically
dedetes all of the Java files available
on the system.
Any Java package imported in a
program and not being used, is
sutomatically deleted.
When all references to an object are

gone, then the memory used by the
obAect 16 automatically reclaimed.

3

i

128, What is the full form of DTD that is used
o describe content in an XHTML
e wmant 7
(1) Dooument To Definition
Ay Docwment Type Definition
% Document Towards Definition
) Document Text Definition

1, A egpotes i thae microprocessor that keeps
Wack of the answer or result of any

Mithmetic or logic operation is the

-



130. 3k ¥9a F@izn srwR wwa 1 2 7fHE ¢ 8l
fdlt Wt 7y ¥ 14 v gfE @ Faa
‘S’ R, weve-Afaw firggfer senfien

131. 3 fersll N forga amofe 3 w2 2 o ot

132.

Fw fa 1 Ut wom

1) 8
@ 5
B 6

W 7

e fawaas = 74 @t 2 i
ool e W

(1) Main memory
(2) Volatile
(3) Non-volatile

4 RAM

nﬁwﬁ%@mﬂaaﬁwﬁ?ﬂmm
LED| I FeEar o &

(1) 'wﬂﬁ’m%mmml

(2) e =
3) “mm'w%mm?&m

(4) umnm%mwﬁl

O/Page 10

130. If the time quantum size is 2 units of

and there is only one job of 14 time uni
a ready queue, the round-robin schedu
algorithm will cause ______ con

switches.

1) 8

131. The memory which does not loose it

content on failure of power supply i

known as memory.

(1)  Main memory

(2) Volatile
—3) Non-volatile
(4) RAM

132. The easiest method in Flash to draw a

heptagon, is to use the

(1)  Polystar Tool with the “Polygon”
style.

(2) Polygon Tool.

(3) Lasso Tool with the “Create star”
option.

(4)  Polystar Tool with the “Star” style.

TEHN & ey g/ SPACE FOR ROUGH WORK
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o ot foed e w3y 1000 1 LA 133, If the period of a signal is 1000 ms, then
frarees ¥ v sTgfa it 2 " hatis its frequency in kilohertz ?

1 10 1 kHz

-1
@ 1kHz (@) 1kHz v
@) 1073kHz 3) 1077 kHz
10~2 kHz = -2
) . @) 107*kHz

. frefafen & @ 1 W fgee A %99 | 134. Which of the following Visual Basic

fign aftemet « ®, Aftuas y R, fraw (QUICK) statements will assign the value “QUICK”

T Ve R 2 from the variable y to the string variable

N
v="THE QUICK RED FOX JUMPED y="THE QUICK RED FOX JUMPED
OVER THE DOG” OVER THE DOG”
(1) x=Middle (y, 5, 5) (1) x=Middle (y, 5, 5)
2 x=Left(y,5) ) x=Left(y,5)
@) x=Mid (y, 5, 5) — @) x=Mid(y,5,5)
@)  x=Instr (5, y, “QUICK") 4) x=Instr (5, y, “QUICK")

135, s dirfin ® gome &6 wregel § foeied | 135, In structured programming, a program is
foem s &) ‘et ol ERE TRA decomposed into modules. Coupling and
% fave w R @ | O I faered cohesion describe the characteristics of

(Tewmiifsym) o frgs faT @@ fepan Sl modules. A good decomposition should

g 2 attempt to ;

(1)  =gaw sfen iR =g Fiea| (1) Minimize coupling and minimize
cohesion,

) i ufe ol =R Fea | @ Maximize coupling and minimize
cohesion.

() m wfein siv s e | 0)

Minimize coupling and maximize

cohesion,
e | 4 ban
(4)  wfamam wafen i sfuwad @ :::::Emze coupling and maximize
10n,
e A —z——¥/ SPACE FOR ROUG T ———
O/ Page 1 mmﬂ*mm/ ROUGH worg
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1%. mmmmﬂ,""w’m

v e A €

LR R

person_1D |  Name %.-
1000 Rajan i__.
o “m :__.__.....
1001 Rajesh ¥

Fodw mfer gro seeie fiv ) e wfery

LR

(1) W 2

@)  ¥am tetve R

) oA s dny PR

@) Yelve s dn R

137,

Freferfam & & fam woerm wom 4, ge
¥ WUERY UHA wed queen @ie (fire

:ﬁﬂmmw)tnﬂmm
?

M ##H -0y

@ W
o wiiled Oy
) Mﬂw"

136. Consider the database table “Persong*
having person_ID as the primary key .

person_ID | Name Age
1000 Rajan 400
. Jatin M. N
1001 Rajesh 35
What are the constraints violated by the
above table ?
(1)  Relationship integrity
(2)  Referential integrity only
— 43) Entity and domain integrities

(4)

Referential and domain integrities

137. On which of the following storage media,
storage of information is organized as a
single continuous spiral groove ?

e
()
3)

)

CD-ROM
RAM
Hard disk

Floppy disk

138. ¥7Am wrE foqed W i foufy w81 | 138, The kernal keeps track of the state of each
' w1 Heam | 9 (%) W vt executing program by using a data
faa = s ) structure called
(1) process control block A process control block
(2) user control block (2)  user control block
(3) file control block (3) file control block
(4) memory control block (4)  memory contral block

O Page 12 T W74 % (P I / SPACE FOR ROUGH WORK PR 1S

“l'..



= i ST 1 PR T & ) iy
&7

n &
@ A
P =
@ fowefo=

10 mﬁﬁz%%(ﬁ)%mwﬁm
38 F1 396 Y 9Rifed 1 ¥ ofy oo
I F AT E, 59 1 3R vew o
uifl

= 54 BN 34 Frefafaa oe g 53
7 2T T FER U 96g W uF SaweiE

T w1 ®, ¥ SEn g faedi @ e
WL :

BLN,A R Y| 39 % S=E 71 82

V1. Frtfenfas 4 & fag arfam et (AT

9 Recursive procedures is impleme

13
using -
(1) Sumg
(2) Queue
\/(3) Stack
(4) Linked List

140. For a tree with just one node, the root no
the height of a binary tree is defined to
zero; if there are 2 levels of nodes, the hei;
is 1 and so on.

A Binary Search Tree is built according
the usual rules with the following six key
inserted one at a time as given :

B,LN, A, R, Y. What is the height of th

tree ?

1 s /”\\‘
1./{2) y y S\I /'

B 3 A —

4) 4

FER) & s (fe) 1w “S&recursioniumgmalgm
T2
(1) Insertion Sort * M Insertion gon
(2)  Heap Sort " Heap 5o
®)  Merge Sort @) Merge Sory
(4 4
mEeJTsB:bble Sor;,; e *WW
ORK PK] 17-1/CS



142, Mechanism that is used to convert g,

% wd % ferg wg smcrsfonnm,cuw

142. Wity wm 9 o 0 WO...-—-— name into IP address is knoy,
for et A e g
ww W (1) HTTP
(1) HITP @ URL
(2) URL P
® FIP W o
4) DNS
143, iumﬁmwﬁﬂﬁiw‘m - mmd;‘:mm
m: m‘: :::::ﬁh?ﬂ::m ¥ receipt of the data. This type of agreeme
::':m’:____wmtl bR Wy Siependant wits & fae
ad -
(1) W)y sk conecl
(2) wEdrafen (2) multitasking
()  Feifid _ (3 handshaking
(4)  foritafin (4)  piggybacking
144. Prrferfia s 21 ferte ) wrafom ey % 144. What correction is required for following
wmwmmaﬂmm:' Java code snippet to compile ?
int [ | X&new int [10]; int [ ] X=new int [10];
for (int P =0; P<=X-length (); P++) for (int P=0; P<=X-length ( ); P++)
X[P]=5; X[P] =5,
(1) X[P) =5, X(P) = 5 ¥ iy 1) XIPI-Sdebexm=5
(2) P<=Xlength (), P<X-length ( ) % A P""'x'lﬂ'lgth()nhoul.dbe
Y P<Xlength ()
3) X-length (), X-length #1 =nfipy 3) x.m“mhx_m
(4) P++, P+ 1% =fen ) pﬂmhp+l
O/ Page 14
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LR
n&:;::? P .
) #=4% (Rollback)
@ #fiiz (Commit)
@ TR (Select)
@ ®FAE (Savepoint)

w 8 & TR T T (R frai
frtfefgs fm w1 @ weegd 47

m

s A | gan e i
w 2 i gfsfraa w5

S W A | 2z d iz
3 W 22 2y gfafeaa o

TEgE AT 2rAE § ausz ad
W 22 2frh gfafeaa s

TS e e © szan i’
77 Wz 2t gfafaa w0

. s fmen 4 3w vt AR
% %) fraimd R 71 2 Al B A0
Y w B v 71 =g v O

¥

1)

T8 a2zt A B

5
2
3

4

145 wmho{ﬂwfoﬂuwingisnotamm
' mmgenwntSQLcommnd‘:'

(1) Rollback
(2) Commit

sz Select
(4) Savepoint

146. Concurrency control in RDBMS is
important for which of the following
reasons ?

(1) To ensure data integrity when reads
occur to the database in a multi-user
environment.

(2) To ensure data integrity when
updates occur to the database in a
single-user environment.

\ﬁ To ensure data integrity when
updates occur to the database in a
multi-user environment.

(4)  To ensure data integrity when reads

occur to the database in a single-user
environment.

147. An Operating system contains 3 user
:."mﬂ.mtequiri:gZunitIdm
&n':'lutrmﬁnmmr\umberdurﬁhofkﬂd‘

no deadlock will ever occur is :
M s
@ 2
3 3
—R) 4
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e # &

prppum————r ] L At

149,

150.

151.

sqy  fe@®
(1) 16
@ 10
@) 12
@ 13

frferfan # & @ o wyfs wm feer o
YUR et ¥ 2

(1) s wfa (adere )

Q) wuftw wfy

@) fedt wfy

@) g wgfa (9 S

HaToT < o un O Hey f Frfafag
W I W Fo Tewm )

(1) mm:hﬁamﬁfaﬁqm

@ " e TR T gy
(3) W“ﬁaﬁ%ﬁumﬁmﬁ

4) = (Fe) TEHT T 2o 55
STTAYIHA 1 F9 @

FEATFT F T et qfvsm o
ﬁmmﬁ%mmﬁm(ﬁzﬁ
ST B 2

=Fea& : AC+ABC

(1) 4

2 1

B 2

4 3

O/Page 16

148. The number of bits require to "*‘-’Presem
decimal number 4096 in binary for, is

(1) 16 ey

2) 10 AT,
> -

G 12 2, & W
bl‘l.. G“

iy 13

iz

149. Which of the following memory improves
the speed of execution of a program ?

(1)  Virtual memory
(2)  Primary memory

(3) Secondary memory

\/(,4}’ Cache memory

150. Which of the following statements is false
with respect to Relational DBMS ?

(1)  Adisadvantage of highly normalized
tables is that queries may require too
many time consuming joins.

(2)  Foreign key constraints are referential
integrity constraints.

(3) A primary key uniquely identifies 2

row in a table,

\,/(4) Nulls reduce Space requirements in

tables,

151. How many gate(s) would be required t0

implement

the following boolean

EXpression after simplification ?

Expression L ACY ABC
(1)

& 1




& OLTP
@ OLAP iR OLTP

(R~ NI WEHR ) Vg 1 3l ¥

(1) The AND function of several AND
functions.

) The AND function of several OR
functions.

@ The OR function of several AND
functions.

4 The OR function of several OR
functions.

A MR W M@ EIEE
| =R

1) <hl>

<head> =large
<peading> = large
@ <he>

( :]

(3)

N ffuign § 4 fea awis 8 T
e iy gy’ % AR W T
Los 2

) i

2 dmvy
B  wwfin

W) Temig Wi

#
@

152. What do data warehouses support ?
(1) opmtional databases
Q) OLAP
3) OLTP
(4) OLAP and OLTP
153. The term sum-of-product in Boolean
algebra means :
(1) The AND function of several AND
functions.
() The AND function of several OR
functions.
. (3) The OR function of several AND
functions.
(4) The OR function of several OR
154.

What is the correct HTML tag for the largest
heading ?

) <hl>
) <}_1ead> =large
4) <h6>
155.

Which of the following techniques allows
execution of programs larger than the size
of physical memory ?

M) Thl‘as.hsng

(3 DMA

Mgy

\_
% ®d

< T e/ SPACETOR ROUGH woRk
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15. For the following binary tree, in,
traversal yields the expression
(1) = 4*/abdef (1) =~ %2/ abdef
(2)  a+bd®~eff (2)  avhd*~ef/
(3)  abdef*/ + - (3) abdef*/ 4 ~ ef‘
(4) atbod-e/f s brd - e/f
5—"‘) “ ¢/ ¥ v*
o
157, wivr feesrdt st ufrdoedf 4 firay 187, I8 & special effect in motion
RERSLLR A O] T DY SR p— pictures and animations that changes one
Wﬁwmﬂwmtmt image or shape into another through s
afrafia wom # seamless transition.
(1) @it
_ (1) Twu'ntn‘
(2)  faenm Conmd) wrvdifomg (2)  Inverse Kinematics
(3) i -
. (%) Morphing
L G (4)  Tweaking
158, mmm#mcm,
W*w*mmﬂw‘; 158, lnh'lﬂch‘ddm.‘mdg,hapamdb
ADD Rd, #3) 7 ' piven explicitly 0 the instruction (example
(1) Based Indexed mode o "ADDR4, #3) 7
(2)  Absolute mode Pased Indexed mode
(3 Immediate mode - Autute Mode
(4)  Register indirect mode V‘(:’ Immediate med,
"mhﬁr mode
O/Page 18 W‘T‘*mm/ SPACE FOR v o
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Which of the following is not a program

i
? 159. .
@ thP control instruction ?
® W 1) CMP —
2 }MP 2) MOV
@ M
) CALL
@ CAL
F
0 “ml e Mm - ~——— W% | 160. Based on the current technology,

e is the fastest logic family.

1 MO5 (1) CMOS

p T @ TIL

) MOS (3) MOS

4 ECL _ (4 ECL

o Pefefem d A 29 @ S fawm %1 | 161, Which of the following represents the life-

-z & 2 cycle of software development ?

() Design — Analysis — Coding - (1) Design = Analysis — Coding —
Operation and Maintenance - Operation and Maintenance —
Testing Testing

() Analysis —» Design — Coding - _~ @ Analysis - Design — Coding -
Testing — Operation and Testing —  Operation and
Maintenance Maintenance

() Design - Analysis — Coding - (3) Design — Analysis — Coding —
Testing —» Operation and Testing — Operation and
Mainksiinct Maintenance

#) Analysis — Design - Coding = @)  Analysis - Design — Coding —
Operation and Maintenance = Operation and Maintenance —
Tesung T“ﬁng

L} U fa nﬁtﬂf’ﬂﬂimw 6. Gi‘:'mﬂutazz-inchmnitorwithanaspect
WIG:‘J%GMWWIW’”W :':m of 16 : 9 has a monitor resolution of
b ntie et Bl 7 201080, what is the width of the

# W monitor ?
(1) 22 inches
1 .
) 2 (2) 853 inches
@ 8s3gm
: @) 1079 inches
B 1
0.79%4 4) 1917 inches
“)\19_17;'@; %/ SPACEFO
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163, «ﬂpq,g,s.mauﬂﬂ’*!‘ 163. The five items P, Q R, S and T are pushey

= ¥ az Mﬂh“w in a stack, one after
rwen o ot e e B 0 P. The stack is popped four tmes and eac
virw fem m«n(l\)”ﬂ element is inserted in a queue. Then ty,
TO0 v fom e e W@ R 39 pushed back on the stack. Now one jtem i
(W) 7f &1 Iwert welt we (WE W) popped from the stack. The popped item
': is ?1
M s ay S ! : q
i @ r L7
o i
& Q @ Q S et
@ R @ R ;‘1‘ A
LP

164, Wifen @z wensl w1 Tl ¥ fAw | 164, How many bits are used in the exponent
SRER iy Sy e it (i) part of IEEE single precision format for the
v femd fazm = swm femam 12 representation of floating - point

numbers ?

(1) 32fem ) 32bits
preae @ 8bits
3) 1sWR= _® 16bis
o il @ 24bits

168, PR T IS Wt M RAFT STt | 165. Buying and g 2.

is called :
1) go-w= % .
2) wrw-mEfa & -onversion
@) www-fawm a5 perichong
)t A E-Commerce



MﬁﬁW"mmm
gt S o ST ) "9

\

®

®

e W o R
el

“Q“W‘{*ﬁﬁmﬂz“h

o fowell SR o W R s
LUR R
"'W'!‘i‘ﬂﬁlwm'h;
LUR IR

Sem

' w &l ASP.NET WIS ) 11S |8t W @
W ¥ AW WSS ¥ WegW | ¥ Wt @
W& HTML S § Qran &

)
@
@A)
)

K Cos ¥, e 4 S T
2 wf ) i SR AR

ASP.NET 3R HTML e & fas
ft ASP.NET 918

|t HTML ®iS

37 ASP.NET $re fuad ASPNET
A A R

A T
GRITE

B fred wa €2

M)

(ﬂf 0 B

delete pp;
delete ppl I/
delete [ ] pp;

166. Which one of the following most accurately
describes “multiple inheritance” ?

(1)

(2)

3)

A

When a child class has both an
“is a” and a “has a” relationship with
its parent class.

When two classes inherit from each
other,

When a base class has two or more
derived classes.

When a child class has two or more
parent classes.

167. When an ASP.NET file is placed on an [IS
server and viewed through a browser, the
resulting HTML page contains ?

1)
@
« O
(4)

a mix of ASP.NET and HTML code
all ASP.NET code
all HTML code

as much ASP.NET code as is in the
ASP.NET file

168. In C++, which of the following statements
correctly returns the memory from the
dynamic array pointer pp to the free
store ?

(1)
@
@)
(4)

| W

delete pp;
delete el b
delete | | pp:
delete *pp:

delete *pp;

<t/ SPACE FOR ROUGH WORK
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169,

170,

171.

172

P——— T A

P
AP st e ) g ¥ 0
i # g _ ol ) s

il oY) o s e
t
() 4.0
@ 1.3
® 22
4 31

10Bases Wufelr g oy wwg o
R

(1) wne gyoye
(2)  faw gurhe
(%) foum gurie

(4)  frmfee guere

Pt wifwfen vw yafiy (fgmd) &%,
freraaeity W, fre S s o W By
ﬂl'm g

(1) wrd afrads woff
(2) e feafy

(3) 9w frafy

(4) @rme feerfy

W ufsedh dve forait ool e i S ey
1 = €A ¥ ) e oen ¥

(1)  Primary entity set
(2) Strong entity set
(3) Weak entity set
(4) Simple entity set

169, The logic clreutt of binary adder wij), iy
used to add two d-bits binary Dby,
Fequires hall adider(y) and

full adder(s).

(1) 4,0
il A
) 22
@ a1

170, The 10Bases cabling s also known as

(1) Fast Ethernet
. (2)  Thick Ethernet

(M) Thin Ethernet

(1) Gigabit Ethernet

171 In o positive edge triggered JK flip-flop, a
low | and a low K produces

(1) no change
(2)  low state
(%) high state
(1)  toggle state

172, An entity yot that does not have sulficient

attributoy g form a key s tormed as |
(1) Primary entity wot
(2) Strong entity yoy

worAd)  Weak Cntity yoy

(4, Slmplv @nugy ot

O/ Page 22
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I

ety 9 SR g | 1, i o

) ZA (Gateway)
@ ¥4 (Hub)

0) f@a¥ (Switch)
@ W (Router)

the following devices
u“dmund,dwmrmatMGmmdh
data and translate messages from one
format to another 7

R i
(2) Hub
(3) Switch
(4) Rowss

ﬁ ' ri '
lﬂmﬂ T e s Mt 174. |n which of the following state, the process

fg ‘2’ ST A R
m T
@ A
G @
@ afn

. Yaw @ sy w5 Sfeem t

1) Ofnlogn)
@ O(n)

B) O(logn)
@) O (n*n)

is waiting for processor ?
(1) Running
(2) New

{3) Ready
(4) Waiting

175. The complexity of linear search algorithm
IS :
(1) Of(nlogn)
2 Ofm)
(3) O(logn)
(4) O (n*n)

% e erawi d, @1 aiferssdl @t F8fF [ 176, In relational databases, the natural join of

ﬁm(mm)% two tables is -

(1) W= Fwfag 3= | () Cartesian Product always.

Q) gfrm s @ FEfEEA TR (%) Combination of Union and filtered
T | Cartesian Product.

0)  wom s g FheH AR TG () Combination of Selection and filtered

Cartesian Product.

T —— Wmm 4 Combination of Projection and

.
e 3 T T o o e

filtered Cartesian Product.
/ sPACE FOR ROUGH WORK PK] 17-1/CS




7. % wmp pwmA R
W ® W § me gy 0w A
s mwsdmai
(1) 50 (weakly) 78S
2) whe =
(3) =rafoss =
@) === me

w'{mtm'wdﬂim

! Fom W 58 avm dw wea b7

(1)  SELECT COUNT (*) FROM Persons

(2)  SELECT COUNT ( ) FROM Persons

()  SELECT COLUMN () FROM Persons

4) SELECT COLUMN (*) FROM
Persons

178.

179. mvﬁq#xaﬁwmmﬁztl
fr=fafas =21 31z 22 = faam
Fifay
while X<>Y do
if X>Y then
Xe—X-Y
else
YeY-X
end:f
endw hile
print (X)
TR EE?
(1) F¥==AF AMA W
zi
(2) TE 3T B ALA F N
i
(3) =% 2 HemE 5 % wEE o dem
= A £
(4) TEAR AL TA I FETAT= S
fawfaa =@ £/

177. Javaisa _ language. This mean,
that you must be explicit about what typ,
of data you are working with.

(1) weakly typed
(3) dynamically typed
(4) loosely typed

178. With SQL, how can you return the number
of records in the “Persons” table ?
A1) SELECT COUNT (*) FROM Persons
(2) SELECT COUNT ( ) FROM Persons
(3) SELECTCOLUMN () FROM Persons
(4) SELECT COLUMN (*) FROM
Persons

179. Assume X and Y are non-zero positive
code fragment :
while X<>Y do
if X>Y then
XeX-Y
else
Ye¥Y-X

O/Page 24
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|

(a+C) (AB + AC) (AT +B)
dﬁ““ﬁwmmmg?
0 AB + BC

@ AB

?) AB+BC

4

#

AB + AC

'ﬁum%zmnmﬁ,ﬁqqam:
CECEE

sfaadl (F92R) # deg

7058 T Al

fereranaTi (Ufzegzm) #i den

afes (Zaea) #1 de

1
2
G)
)

R TFAEE W, HAaE = AR am =
fi-=ira a0 2 o UH UR W F i s
§ | frefefEs d 3 %0 3 gecaaEs W a
o T 87

yozr fadear faamm

e (ofdm), IO (o), ¥
wiga

amf=s g9

1)
)
G
4)

B ﬁqﬁhﬁﬂaﬁwmﬁwmﬂ'af’
o Frmraer & fagia W WA A

% FA & 0

=t SPACE FOR ROUGH WORK

180, The boolean expression
(A +C) (AB + AC) (AC + B)
can be simplified as :
(1)

(2)
(3)

(4)

AB + BC
AB

AB+ BC
AB + AC

In a relational database model, cardinality
of a relation means :

(1)  the number of constraints

_—2) thenumber of tuples

(3)  the number of attributes

(4)  the number of tables

181.

182. Conceptual level, Internal level and
External level are three components of the
three-level RDBMS architecture. Which of
the following is not part of the conceptual
level ?

{1~ Storage dependent details
(2) Entities, attributes, relationships
(3) Constraints
(4) Semantic information

183. Which of the following transmission media

works on the principle of total internal
reflection ?

- Optical fiber cable
(2)  Shielded twisted pair cable
(3)  Unshielded twisted pair cable
(4) Coaxial cable

PK] 17-1/CS



184 W“ﬁﬁmwﬁ*imm 184, The mechanism thatbrinsﬂ'Pf‘
m.“mmmt.m memorymﬁbeEﬂitiSﬂﬁdedli
e wuwmt -

1) Y fRdade (1) page replacement
@ IWRw (2) segmentation
@ R (3) fragmentation
@) fewix dan - demand paging

188, fPrfafn ¥ ¥ o) o Aaetstt sfuwam | 185, Which of the following topologie
fevaredum wem s €2 highest reliability ?
(1) Sw A= A1) | Mesh topology
@ A=t (2) Bus topology
®) wRINEE (3) Star topology
@ RuAdetah (4) Ring topology

186 W2 (WIPUs) FIPva S s s ¥? | 186. Whatis the length of an IP address in

(Pre-IPUS) ?
(1 8 (1 8
- @ 1
@ 2 @ 2
4 4 \/(4») 4

187. WA Y J Frafafen S99 W RER | 187, Consider the following statements
?ﬁqﬂm & 5 respect to JavaScript :

- B s 1 variable is created using the
(i) mm(m)wh @M Ja it is
TmIITRa R b wmd:""m‘“:wl:ns‘m
m IOFIM M Namummm)m'
@ =0 @  Mony
" e ® (0 ony
@ s A
(1) and (1)
O/ Page 26
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Bl fod wedndifean wfEe #_——

faefl P AT 1 gy

” faft F 0 H e 4 ) m“""m
) fa=a ofe
3 dnafes yfe
(4) Fiee
g9, T HIEUZ H2 wuen ¥
(1) mm%ﬁmtmw
9 |
(3) =% T S S sqRw e ¢,
(4) faed fam s #03 % ar o
U s ae ot &t o
%0, FUrEE I & T #
A F14 % oo fa sman B
(1) 75 T
(2) 'T.Fl(rare)m
(3) wWEY fowEEseE
(4) =TS FEEn

i

188, A condition that is caused by run-time error
in a computer program is known
as

(1) Exception
(2) Syntax error
(3)  Semantic error

(4) Fault

189, Program counter contents indicate :

(1) the time needed to execute a
program.

(2) the time elapsed since execution
begins,

A3 theaddress where next instruction is
stored.

(4)  thecountof programs being executed
after switching the power ON,

190. Semaphores are used to solve the problem
of

(1) mutual exclusion
(2) race condition

—(3)  process synchronization
(4)  the belady problem

191. A multimedia project is said to be

W-;{iﬂ:ﬂ'ﬂ el Sl ] m:’lﬂm o m users are ;v:nn:a:i’::ﬁ::'l:r:::wtr:l-Whm
4 F fom dgre faan s e (1) secure
(1) wdua (2)  hypertext
2) zmTRE= ~3) linear
(3) Yaw (fafral) (4)  non-linear
O\J:J sArfas ("Th'ﬁ":; %/ SPACE FOR ROUGH WORK PKJ 17-1/CS
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92, ww srqe fupre e farE O A | gy An analog signal carries 4 bits in each signal
4 T w8 i wfy v 1000 firrves unit. If 1000 signal units are sent per
vttt il & A oy o) g 0 st second, then baud rate and bit rate of the

femwm Ll signalare _______and .
(1) 1000 &re/A,, 4000 bps A1) 1000 bauds/sec, 4000 bps
(2) 1000 &g/, 500 bps (2) 1000 bauds/sec, 500 bps
(3) 4000 arz/A,, 1000 bps (3) 4000 bauds/sec, 1000 bps
(4) 2000 &g/, 1000 bps (4) 2000 bauds/sec, 1000 bps
93. U ezl ven i & fon | 193, is an intermediate storage area

mmmtmmm used for data processing, during the extract,
thmwmtmm transform and load process of data

warehousing,

(1) Inter-storage area (1) Inter-storage area

(2)  Buffer «—12) Buffer

(3)  Staging area (%)  Staging area

(4)  Virtual memory (4)  Virtual memory
" o e | e i 0 ot o e

urn ) el by of a hard disk on appropriate sector,

(1) Load time (1) Load time ,

(2) Seek time 3 A Seck time '

(3)  Access time \ A Access time

(4)  Rotational latency -\%m Rotational latency
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9. Preferfury swdl o faam #1900

S1: By sn § wd e afersn] a5
L1

S2: B2 g § winfre frgves F 915 0
L1

S3: &8Pl A 1/0 st o fw Foe
ok T

Frforfom # & s araft £7

(1) S1aftshsymmt

(2) Si13msyuht

(3) sS2smsimht

4 S1Fhtsms memt

200. FT4 ADD X, Y ¥ 3132w # wqw v
fafis % .

19, Consider the following statements
S1: asmall page size causes large pa;

tables.

52: internal fragmentation is increase
with small pages.

S3:  1/0 transfers are more efficient wit
large pages.

Which of the following is true ?

(1) 1 is true and 53 is false

(2) S1andS2 are true

(3) 52 and S3 are true
\_{4).- S is true and S2 is false

200. The addressing mode used in an instruction

of the form ADD X, Y is :
(2) Absolute ___ (2 Absolute
-00o-
~00o-
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